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/* BSTree.java */
public class BSTree {

private Node root = null;
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public class Node {
private final String key;
public int value;
private Node left, right;
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private Node(String key) {
this.key = key;
this.value = 9;
left = right =
}
}
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public Node find(String key, boolean add) {

null;
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if (root == null) {
if (add) root = new Node(key);
return root;

}
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Node n = root;
while (true) {
int cmp = key.compareTo(n.key);
if (cmp < @) {
if (n.left == ) {
if (add) n.left =
return n.left;
}
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n =
} else if (cmp > @) {

if (n.right == ) {
if (add) n.right =
return n.right;

}
n =

} else {
// cmp == @ (FER) DA ZIitkD
return n;
}
}
}
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public void traverse() {
traverse(root, 0);

}
/] FERCESRDERE 1 L > THRRT D

private void traverse(Node n, int level) {
if (n == null) return;

traverse( , level + 1);

for (int 1 = 0; i < level; i++)
System.out.print(" ");
System.out.printf("+ %s(%d)%n",
n.key, n.value);

traverse( , level + 1);

}
}

/* Program.java */
import java.util.Scanner;

public class Program {
public static void main(String[] args) {
BSTree tree =

Scanner sc = new Scanner(System.in);
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while (true) {
System.out.print("pEMm4: ");
String key = sc.next();

// quit EANLT=6Tm s T AT
if (key.equals("quit")) break;
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BSTree.Node n = tree.find(key, true);

System.out.println("7E/E#: " +

n.value);
System.out.print ("H§EE: ");
int num = sc.nextInt();
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n.value += num;

tree.traverse();
System.out.println();
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